20233 = =0llah LB Alel S Xt

S AEI=XI
MM FojoI=X|
CHol: mOJQINS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Arel S X110t 189,063, 117 173,278,799 16,784,318
= 112,536,292
[ 1,647,342
Il 2,456,135
< 17,864,736
Al 54,558,612

oI =X 28,017,953 24,886,846 3,131,107
= 13,748,620
= 2,785,224
Al 11,484,109

ZOHAHS 28,017,953 24,886,846 3,131,107
= 13,748,620
< 2,785,224
Al 11,484,109

== (0Ix) 483,053 483,053 0
= 338,137
== 101,441
Al 43,475

301 22N = 483,053 483,053 0
= 338,137
= 101,441
Al 43,475

01 Al EE A S(FRNEXMA) 483,053 483,053 0
OJ|= ZH0H===H(990%) 483,053
= 338,137
= 101,441
Al 43,475

o= (XaIS) 300,331 300,331 0
= 210,232
= 63,069
Al 27,030

301 LEtE N = 300,331 300,331 0
= 210,232
= 63,069
Al 27,030

01 AR E2EHSFS(RRNEERTHE) 300,331 300,331 0
Oxt& 2l Hoh==e(5468) 300,331
= 210,232
[ 63,069
Al 27,030

Hoh==&(12) 32,240 32,240 0
= 9,672
Al 22,568




SA: ABIZXID
S ZOHCI=X
s ZO0HeIAHIS (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
301 LPBNZ 32,240 32,240 0
& 9,672
Al 22,568
02 MBI EZASHS(HAUAS, XLTHA) 32,240 32,240 0
O12 EoH+==(150%) 32,240
& 9,672
Al 22,568
NASHEOHR! XEH| L HAtHl XI& 3,000 3,000 0
= 1,500
Al 1,500
301 LetEHZ 3,000 3,000 0
= 1,500
Al 1,500
01 A B& X Z2(2REETHA) 3,000 3,000 0
OMASEOC!l Y| L AAH XI&(130Y) 3,000
= 1,500
Al 1,500
ZHOHQ! o= H| 209,056 209,056 0
= 167,245
& 29,267
Al 12,544
308 AXIHMSOIH 209,056 209,056 0
= 167,245
= 29,267
Al 12,544
11 BI 2SI HEHE AR L EALZH] 209,056 209,056 0
OFOofel 2= H(324Y) 209,056
= 167,245
= 29,267
Al 12,544
ool 3,899,701 3,839,701 0
= 2,729,791
= 350,973
Al 818,937
301 LetEHZ 3,899,701 3,839,701 0
= 2,729,791
T 350,973
Al 818,937
01 AISIBE XG2S (2 LEXTME) 3,899,701 3,839,701 0
Ol AS(1,260Y) 3,899,701
= 2,729,791
& 350,973
Al 818,937




SA: ABIZXID
. ZOI=X
=l H0HHS (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
LEHEAMEIA ™ XA 232,800 186,000 46,800
= 162,960
== 34,920
Al 34,920
308 XtXIEMSO0IH 232,800 186,000 46,800
= 162,960
=S 34,920
Al 34,920
1 S 2S0UetE 4R A AL S| 232,800 186,000 46,800
OLEHAMEIA BI2X X2 232,800
= 162,960
= 34,920
Al 34,920
AL XS HEXH X 4,320 4,428 A108
= 3,024
= 648
Al 648
308 AXIHSOIA 4,320 4,428 A108
= 3,024
= 648
Al 648
11 S| 2SS & HASAIE 4,320 4,428 A108
OdoZeR2 BN K& 4,320
= 3,024
= 648
Al 648
LEIHR FAESAHHIA R 461,420 805,215 A343,79%
= 322,994
< 69,213
Al 69,213
308 XXM SOIH 461,420 805,215 A343,79%
= 322,994
== 69,213
Al 69,213
11 S 2SS & AS AL 461,420 805,215 A343,79%
Ogadiel FAHeSAHAXH 461,420
= 322,994
=S 69,213
Al 69,213
220 s =SAHHIA X 178,109 246,254 A68,145
= 124,677
S 26,716
Al 26,716




SA: ABIZXID
. ZOI=X
=l H0HHS (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
308 XXM SOIH 178,109 246,254 A68,145
= 124,677
S 26,716
Al 26,716
11 31 2SS &= AE AL 178,109 246,254 A68,145
OggHel gus SsSAHIA X 178,109
= 124,677
S 26,716
Al 26,716
HOHRIE D171 4,356 4,3% 0
= 3,485
Al 871
301 LENZ 4,356 4,35 0
= 3,485
Al 871
01 Al EE AT Z(2RDEXR) 4,3% 4,35% 0
Ol 22717] 4,3%
= 3,485
Al 871
ofe! 2sXE SHAIA 11,281,676 8,763,254 2,518,422
= 7,897,173
= 1,015,351
Al 2,369,152
308 AtXIEMSOIE 11,281,676 8,763,254 2,518,422
= 7,897,173
= 1,015,351
Al 2,369,152
11 S| 2SS & HASAIE 11,281,676 8,763,254 2,518,422
OZoje 2sXa 26X 11,281,676
= 7,897,173
S 1,015,351
Al 2,369,152
BESEX ORasN 80,213 25,703 54,510
= 56,149
< 7,219
Al 16,845
308 AtXIEMSOIH 80,213 25,703 54,510
= 56,149
== 7,219
Al 16,845
11 S 2SS & AE AL 80,213 25,703 54,510
OgsEx JKta¢ 80,213
= 56,149




SA: ABIZXID
. ZOI=X
Rl ZOHRIHS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 7,219
Al 16,845
ZoHl=<0l K& 804,784 804,784 0
= 241,435
Al 563,349
308 AHAIEMSOIE 804,784 804,784 0
=S 241,435
Al 563,349
1 S| 2SO0 UeZBSHASAIE 804,784 804,784 0
OZ0e! =<0 804,784
< 241,435
Al 563,349
ZOHIES XA AIKHALS 2,607,000 2,607,000
308 AHXIEMSOIH 2,607,000 2,607,000
11 SIS0t HAS A 2,607,000 2,607,000
OIS AE AKHIA 2,607,000
HEZAELHIS 2,000 2,000 0
= 1,400
= 180
Al 420
301 EtE N = 2,000 2,000 0
= 1,400
< 180
Al 420
01 AR 2EHSFS(RNEERTHE) 2,000 2,000 0
OG&ZHel SatHIE(2Y) 2,000
= 1,400
== 180
Al 420
ZOoHI L Xt X1 & 256,458 212,512 43,946
= 128,229
== 38,469
Al 89,760
307 212+01& 256,458 212,512 43,946
= 128,229
= 38,469
Al 89,760
05 git?(& = 256,458 212,512 43,946
OFHI=XLXtel(38Y) 256,458
= 128,229
= 38,469
Al 89,760
Zojel et (MeN) L Xtel 836,194 739,612 96,582




2A:
X XH -
o e

=aak

Ar2l = X 2t
eI =X
OIS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

= 418,097
=S 125,429
Al 292,668

101 21AH| 836,194 739,612 96,582
= 418,097
= 125,429
Al 292,668

04 JIZtN2 2N S 2+ 836,194 739,612 96,582
OTOHI LB (ML) L Xtel (29) 836,194
= 418,097
= 125,429
Al 292,668

ZOHQI L BH (AIZHRI) 2 Xtel 273,990 220,699 53,291
= 136,99%
= 41,099
Al 95,89%6

101 @124H| 273,990 220,69 53,291
= 136,99
< 41,099
Al 95,896

M ORIMZZ2NSE S 273,990 220,699 53,291
OZOHI L BHH (AIZHAI) 2 Xtel (192) 273,990
= 136,995
== 41,099
Al 95,896

ZOHel 2ot 40,586 25,906 14,680
= 12,176
Al 28,410

307 elztol & 40,586 25,906 14,680
= 12,176
Al 28,410

05 212t =S 40,586 25,906 14,680
OZOHA LRl (ZXLA) 40,586
=S 12,176
Al 28,410

SOHAZ DI & HO| &YX 3,800 4,000 A200
< 1,520
Al 2,280

301 EtE NS 3,800 4,000 A200
= 1,520
Al 2,280

02 ARSI 2 XSG (FHAAHS, NLWE) 3,800 4,000 A200
OFOIERID] & HoLH|(24Y) 3,800




SA: ABIZXID
. ZOI=X
Rl ZOHRIHS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,520
Al 2,280
ZOH KHE XA 2,000 2,550 2550
= 1,000
Al 1,000
301 EtE NS 2,000 2,550 A550
=S 1,000
Al 1,000
02 ANRI2HHSHS(HAAS, NLHE) 2,000 2,550 2550
OdlZ el E4H((31) 2,000
< 1,000
Al 1,000
G ZOHARIA 4,000 4,000 0
= 2,000
Al 2,000
307 el2to| & 4,000 4,000 0
= 2,000
Al 2,000
11 AMEISXAIEEXS 4,000 4,000 0
OG&ZEM JIsES nI(1HL) 4,000
s 2,000
Al 2,000
ZOHRIH KR 5,000 5,000
201 el 5,000 5,000
01 At2telt] 5,000 5,000
Oggt =ZH| 5,000
—3SEA Z0He! HAMB(EXEAN, 2
o, =208 8) 5,000
UL =RIE FAS S AHIA 4,000 4,000 0
201 fer=3| 4,000 4,000
02 s3=gHl 4,000 4,000
OZMASXIERASHSAEIA RES 4,000
gojelsxa 24 1,205,000 1,153,159 51,841
= 70,600
Al 1,134,400
307 elztol & 1,205,000 1,153,159 51,841
= 70,600
Al 1,134,400
05 2I2tRIE =S 1,140,000 1,088,159 51,841
OZeI=EX2 28| 1,140,000
= 51,100
Al 1,088,900
10 Al2ISTIAEEE2HIEX 65,000 65,000 0




SA: ABIZXID
. ZOI=X
Rl ZOHRIHS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZOHUSRI2 SAK 4=EH(259) 65,000
= 19,500
Al 45,500
ZOHRIAHFAIE 2SR 1,451,233 1,239,662 211,571
= 1,015,863
= 130,611
Al 304,759
307 elztol & 1,451,233 1,239,662 211,571
= 1,015,863
< 130,611
Al 304,759
10 Al SXAEEHE2EHI 22X 1,451,233 1,239,662 211,571
OZOHAHFAIE 2 (1HA) 1,451,233
= 1,015,863
== 130,611
Al 304,759
ZOHAXSTHEAIL 2 1,185,659 1,070,035 115,624
= 36,000
Al 1,149,659
307 elztol & 1,185,659 1,070,035 115,624
= 36,000
Al 1,149,659
10 AlISAAEEHE 22X 1,185,659 1,070,035 115,624
OZ 0! MNATHEAIE2SHI(3M ) 1,185,659
=S 36,000
Al 1,149,659
oS OISXIJHE 29 170,606 169,655 10,951
& 6,800
Al 163,806
307 lztol & 170,606 169,655 10,951
= 6,800
Al 163,806
10 Al SXAAEEHE2EHI2x 170,606 159,655 10,951
OT A UE0IS XIFHH 2SHI(10H2) 170,606
= 6,800
Al 163,806
OSSN 29 226,300 210,497 15,803
S 5,700
Al 220,600
307 lztol & 226,300 210,497 15,803
= 5,700
Al 220,600
10 Al SXAIEEHE 22X 226,300 210,497 16,803




SA: ABIZXID
. ZOI=X
Rl ZOHRIHS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ox=0lSHHH 2HI(10H2) 226,300
= 5,700
Al 220,600
ORI AHE2S AL 2E 253,492 213,492 40,000
=S 40,000
Al 213,492
307 21201 & 253,492 213,492 40,000
< 40,000
Al 213,492
10 Al2ISTIAIEEE 22X 253,492 213,492 40,000
OZORI=2AESAIE 2LHI(20H ) 253,492
& 40,000
Al 213,492
AZLE0HR! =22 SHEH 29 161,216 131,681 19,535
= 28,300
Al 122,916
307 @120l & 151,216 131,681 19,535
s 28,300
Al 122,916
10 Al SXAEEE 22X 151,216 131,681 19,535
OAIZEOHRl F=AESHEH 2SHI(1H) 151,216
[ 28,300
Al 122,916
oSS HEIE 2 174,213 173,632 581
= 2,000
Al 172,213
307 el2to| & 174,213 173,632 581
S 2,000
Al 172,213
10 AlISXAIZEHE 22X 174,213 173,632 581
OTHe SSHEIIE 2gHI(8el D) 62,361
== 2,000
Al 60,361
OZ0He SSHEIIE 2SHIOH 29H2) 111,852
ZOoHI=XIAIAE 158,100 163,558 Ab,458
= 47,430
Al 110,670
307 el2to| & 168,100 163,558 N\b,458
= 47,430
Al 110,670
10 Al SXAI2EE 22X 158,100 163,558 Ab,458
OTOH HFAIE SAK =E(449) 114,400
== 34,320




2A:
X XH -
o e

=aak

Ar2l = X 2t
eI =X
OIS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 80,080
OHOHQ! HATHEAIE SAR =E(148) 36,400
== 10,920
Al 25,480
OZOHOIME NSRS OF2tSH(4H) 7,300
= 2,190
Al 5,110

ForEASTI | =XI2HE 29 62,000 61,000 1,000
=S 12,400
Al 49,600

307 @I2to| & 62,000 61,000 1,000
== 12,400
Al 49,600

11 AMRISXAEEES 62,000 61,000 1,000
OZOHAEHASEI | X2 HE2S (1HA) 62,000
S 12,400
Al 49,600

SSTOHAMT Atci2tel 89,300 75,140 14,160
= 26,790
Al 62,510

307 gl2tol & 89,300 75,140 14,160
=S 26,790
Al 62,510

11 ARRIS XA E X 89,300 75,140 14,160
OZSZZHOHAMIN Atefl2tel(29) 89,300
[ 26,790
Al 62,510

OIS MEXHHE 29 191,000 181,000 10,000
= 57,300
Al 133,700

307 el2tol & 191,000 181,000 10,000
= 57,300
Al 133,700

1 AMISXAIEEXS 191,000 181,000 10,000
OZ NI X ME XA HEH (19H2) 191,000
== 57,300
Al 133,700

ZojelelHdH 2 150,000 112,500 37,500
= 60,000
Al 90,000

307 elztol & 150,000 112,500 37,500
= 60,000
Al 90,000
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SA: ABIZXID
. ZOI=X
SRl OIS EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—Zojel otsdE 2 AIE 3,000
307 el2to| & 68,200 62,200 6,000
03 PIZHHEHE 22X 62,600 56,600 6,000
OXH IS =S| 28,500
OAIZE ISl =S 13,100
sO0telgsl 2| 6,500
OLEILIRH AR 23| 11,500
Ot=d =23 2| 3,000
1 AMEISXAIEEXS 5,600 5,600 0
OAIZTE ! AlE =01 2,600
OZMRIIEZA 3,000
ZoHsty stk gelsti2d 12,000 12,000 0
= 3,600
Al 8,400
307 elzto| & 12,000 12,000 0
= 3,600
Al 8,400
1 AMEISXAEEXS 12,000 12,000 0
OZoNEtA ghat)|2t Zelstn2y 12,000
= 3,600
Al 8,400
AZEONQ JI=HENS 5,000 5,000 0
== 2,500
Al 2,500
307 lztol & 5,000 5,000 0
= 2,500
Al 2,500
11 AMEISXAEEXS 5,000 5,000 0
OAIZEH! JI=HE WS 5,000
= 2,500
Al 2,500
ZOHIHAI2S X2 48,000 48,000
307 21201 & 48,000 48,000
04 QIZHHAMAIH 2 £ 48,000 48,000
OF eIl HA 10,000
OXIHM 0! 2totsS = 11,000
OAIZII ZOIAHOIEEU 2] 9,000
OLEIU= eitg =M 5,000
OAIZTE Rl EXIZ0l2 & AL 6,000
Oso0tele ¢ I stotsiial 4,000
OFLZ0H! 2reel & 3,000
oI =X 41,090 41,090 0




SA: AR =X
eI =X
ZOHRIHIZ

T EH

o™

of
i’
oF
uJ

=
=)

=aak

-

KIO

Hlw

1,700

1,700
1,700

MEE
Ofl &k2h

27,010
21,960

5,050

10,080
10,080

4,000
4,000

20,000

20,000

20,000

Ofl &F2H

27,010
21,960
12,800
5,000
2,300
1,500
4,000
7,000
2,400
3,600
1,000
2,160

2,160
5,050
2,500
2,000

100
400
2,550
2,000
500
10,080
10,080
10,080
4,000
4,000
2,000
2,000
21,700

6,000
15,700
20,000

W

Al

6,000
14,000
20,000
20,000

Iy

Al
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A A= D
" zojel=x]
el ZO0HHS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| OxiaiEoiozizeen) 1,700
IZLHY S2 AN S0 4,704 0 4,704
= 3,293
S 423
Al 983
308 ARISMSOIE 4,704 0 4,704
= 3,293
S 423
Al 988
1 S| 2SS 4 AS A 4,704 0 4,704
OZZLH9 =3 SAIXIE S0 4,704
2 3,29
LS 423
Al 988
ZOHQ!l BOJAIE Ma=ZA 39,748 22,491 17,257
S 11,924
Al 27,824
307 2I2t0| & 39,748 22,491 17,257
= 11,924
Al 27,824
1 ARISAMSEX 39,748 22,491 17,257
OZOHE! BMOIAIL FTAHETBMA) 3,748
&= 11,924
Al 27,824
ZOjQIS SIS HE BA YA A 4,000 0 4,000
201 ZBt=Ah] 4,000 4,000
01 At 2teltl 4,000 4,000
OZORIS 2B 418 MK 22 4,000
ZoHel NHXE AL 3,500 3,500
301 LetE2NS 3,500 3,500
02 MEIZEHLHB(HAAS, L) 3,500 3,500
OZofel TEXR Mgl 3,500
LETHQ LYZSAI EX2LAIC 54,752 0 54,752
= 27,376
= 8,213
Al 19,163
307 2I2t0| & 54,752 0 54,752
= 27,376
= 8,213
Al 19,163
05 BI2t5I=2 54,752 0 54,752
OLLZMALAE S A EX2}e(3Y) 54,752




SA: ABIZXID
. ZOI=X
Rl ZOHRIHS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 27,376
=S 8,213
Al 19,163
delse ST XEE LAl At 83,453 0 83,453
< 25,036
Al 58,417
307 lztol & 83,453 0 83,453
= 25,036
Al 88,417
05 2I2HRIE S 83,453 0 83,453
OISy ST A=E Ll (10) 83,453
= 25,036
Al 58,417
o2 9,457,861 9,380,627 77,234
= 4,009,430
== 1,284,428
Al 4,164,003
SXAHIA S 1,109,000 1,170,000 261,000
< 15,600
Al 1,093,400
SRS X2 29 1,109,000 1,170,000 261,000
= 15,600
Al 1,093,400
307 elzto| & 1,100,000 1,035,000 65,000
= 15,600
Al 1,084,400
05 212t =S 1,048,000 983,000 65,000
OSeAta=A2 24 1,048,000
10 Al SXAEEE 22X 52,000 52,000 0
OZEAIEI X2 SAH==E(209) 52,000
[ 15,600
Al 36,400
401 Al HIZL 201 9,000 135,000 126,000
01 Al&HI 9,000 135,000 126,000
SEAMEISA2 HEE Hetd)| WXl 9,000
Lol Moty 8,348,861 8,210,627 138,234
= 4,009,430
= 1,268,828
Al 3,070,603
colgiiel & AtBlESKIE 8,018,861 7,861,627 157,234
= 4,009,430
[ 1,202,828
Al 2,806,603




FA ASIS
HE: ZE0IMET|
Chel: QI MEOHY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 631,3%6 619,015 12,381
= 315,698
== 94,709
Al 220,989
M ORNZZ2NSE S 631,3% 619,015 12,381
Ol Xtel (2004) 631,3%
= 315,698
=S 94,709
Al 220,989
201 2= 11,205 10,985 220
= 5,602
=S 1,680
Al 3,923
01 AtR2t2|HI 11,205 10,985 220
Oget=EH| 11,205
—Lolgile] BR=N JIE+E4| 11,205
= 5,602
s 1,680
Al 3,923
307 212+01& 7,376,260 7,231,627 144,633
= 3,688,130
=S 1,106,439
Al 2,581,691
1 AMISXAIEEX 7,376,260 7,231,627 144,633
O ol itel 6,991,428
= 3,495,714
= 1,048,714
Al 2,447,000
O==d|2 ol ile| dgeld 384,832
= 192,416
= 57,725
Al 134,691
AILIGIZEE =29 330,000 300,000 30,000
== 66,000
Al 264,000
307 212+01& 330,000 300,000 30,000
< 66,000
Al 264,000
10 Al SXAEEHE2EHI2x 330,000 300,000 30,000
OAlLIcIZE =g 330,000
= 66,000
Al 264,000
oISk 107,108,665 97,313,430 9,79%,235
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